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= Answerall questions in part A and B on this paperitsell.
« Eachquestionin part A carries 02 marks and in part B ¢carries 10 marks.

Parl A

(01} IFRs 2020 hnd Lo be paid asg annual rates for a house which lies within the limits ofa centain wrban counceil,
how much hasto be paid as rates fora quarter,

(02) 49="7 convert imo logarithmic from,

(03) A lair cubicai die with its sides numbered Trom | to 6 is rolled. Find the probability of getting an even
number.

(04) What isthe mtd vaiuc oftheclass - interval 8- 16

{05} Wrig the shaded area in set nolaiion.

(06) Selectand underfine the first approx imale valus of | 33

(i} 5.6 (i) 5.7 (iii) 5.8
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(G7} [fthe lime taken by a train of length 80 m Lo pass a signal post, is 4 seconds. Find the speed al which the
(rein travels.

Find the length of AB wilh ihe help ofthe inlormation givenin ihe figure.

(09) The length ofa prism with triangular cross section ofarea 20cm®, is 12 ¢m, Find the volume of the prism.

12em

(11} Findrhesolutions ofthe equation {x- 1} {x+2)=0

(12) Find x"and y" based on the information given in the ligure,

D = E
a2 &

A L)
X
Ay “e B

(13) The perimeter of the semicircular sector given in the figure is 36cm. If the arc length is 22¢m Nind the
radius. v

3. 1_1
(14) Salve. T3 =3
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(15) Findx", based un the information given in ihe (igure.

f’* 2

{16) xandy are two points located on the horizontal path 'Q. Avertical post, whose p is R, is at P, The angle
ofelevalion of R from X is40°, ITthe angle of elevation of R from ¥ 18 207, Mark ¥ on the path in the given
frwre, R

»

P % 0

-

{17) ITone ol the factors ol x*-2x-3 is (x-3) Find the other factor.

(18) The L.C. Molihe two werms 6xy’and__J__]  yis, 6x'y’, Inser a suitable number and an algebraic
term for the blank cages given above,

{19 Findthe curved surface preq of acylnder ol radius Temand height 10 cm.

(20} The centre ofthe circle is "0", Find x° based oa the informaticn given in the Mgure,

(21} ABCand ADC are congruent triangles. Be earding the Iriangles three expressions are given below. Puta "¥ ™ mark in

the box in [ronc of'each correct expression and puta "X mark in the bax In front ofeach iNCorrect uxpression.
A (]

ABC and ADC triangles are congruent under the R.H.S case

ABC and ADC wiaogles are congruent under the 5.A4.5 cose

AB and DC are parallel.

B el
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(22) Wrile the equation of the siraight line graph given in the figure..

s

{24) "O" is the cenire of the circle. Find x" and ¥° vsing the information given.
c

D \

(25) The centre of the cinl*cle, "P" Jies on the line AB. Using the knowledge of loci show Ihe construction

lines that have to be used Lo find "P"
A

B

A
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Parl B

{01) A laborer was able to dig — of the tolal depth of a well in the first day -— ol the remaining depih in the
second day, The 1ask was cr.:rm pleted in the third day.

(i) Findwhatfraction olthe total depth that hed 1o be dug after finishing the work in the lirst day.

{02 marks)
(i) Find what fraction of the total depth was dug in the second day. {02 marks}
{lil)If the remaining 2 meters were dug in the third day, find 1he total depth of the well, {02 marks}

(iv)Ilthe labourer had charged Rs 1000 per metre for Lhe first five mertes and Rs, 2000 per metre for Lhe

rest of the depth, Find the tolal amount of money paid for digging the well,
(0] marks)

(02) Whenamortorcycle is imported, 25% of its value has Lo be paid as customs daty.

(i) how much duty has 1o be paid when a motorcycle of Lhis typeofvaloe Rs 180000, is imported.
{02 marks)

{ii) Whar iz rhe cosl ofthe motercycle with Lhe customs duty included, {12 marks)

{iin) Afler paying cusioms duty and other charges. the cost of the motor cycle is Rs. 250 000, If VAT of 15% is
charged on allthese expences, find how much money charged a5 VAT,
{02 marks)

(iv) Supun intends ro buy the meterycle. So he takes a ioan of Rs 300 000 from a certain financial institule at anpual
simple interest rate of 4%, promising (o semtle the loan in five years by paying equal monthly installments with
intersst. Find the monthly installed that supun has o be paid. £04 marks)
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{03) A square shaped flower bed ABCD of side leagth 23m, is shown in the figure. APQ and ADE are owo
sectors wilh the centre "0", The flower bed is separaled in io three parls by Lthe arc of the seciors, Red,
yellow and while flower planis have been grown seperalely in Lhese paris as shown in the figure

D P ldm _ » {i) Findtheareaolthe square shaped [lowerbed. {02 marks)
Red
fowers
yelow ir : " i | di
28m Sy Q (il) Whatishe length ofthe arc of the sceler that red Hower
plants are grown. {02 marks}
while .

i flower B

(i) Findtheareaofibe part thar white flower plants are grown, (03 marks)

{iv) Byconstrucling asuitable straight line instead ofthe arc DB, obtain a part of righi angled triangular
shape with DT as its ong boundry and equal in area o the pan thatwhie lower planis are grown.
(03 murks)

{043 The following table, the pie chart and the explanations provide the information on the subject sircams
studied studentby thestuderusin A/L classes iaacertain highereducalion institute.
¢ Nooflstudents inaris section is three times the no of siudents in mathematics - science section. .
¢ The sum ol the number of students in commerce section and language seclion is equal Lo the number of
sludenls in act seclion.

slrgam maths - scignce | Commerce Ans Tecnical Lanpuages
no of students | i 35 L A0 e
{i) Complete the blanks in the 1able. {072 marks)
{11) Find1heiolal number of scudenis sludying in AfL classes in this institure, (02 marks)

{ili)Using the pie chari and the information given above answer to the questions below.

{a} Whal isthe magnitude of the angle avthe centerihan has 1o be allocaled Lo
denole pae studenl. (02 marks)

tby Which stream ol sludenis are denoled by Lhe seclor A,
and find the magnitude ol the angle at ihe cenrre in the sector "A" (02 marks)

¢} Il five studenls of commerce seclion rransfer (o the technical section what would be the engle a1
the centre of the seclor which denotes the new number of studentis in the technical section,
(02 rmarks)

-~ . Girade 110 - mailematies |- Southern Prosince



(03) (a} Sludenis of A/ ciasses inacertain school have been asked o submit their projects within the five
deys of the nextweek.

(1) Indicale the relevant sample space which shows the different ways that Suneth and Nadeshan can

submit their projects, in the grid given, {02 marks)
The day MNadeshan
submit
Fy
F
Th .
|
w _—t 1
Tu —|‘ i
{
Il
4 The day Suneth

Z 4 £ 4 ™ submil

{it) Enclose lhe event that both will be able to submit their projects on the same day and find Ihe
probability of the event, {03 marks}

{b) Among the students who submitted the projecls within five days, three are boys out of 5 in science
seclion while three are girls out of 4 in mathemalic section. An incomple tree disgram is drawn
relevant to the information mentioned above.

{i} Write the relevanl probabililies on Lhe branches. (03 marks)

Science Siydem aths sudeniy

Boys
3
5 Boys
Girls
Bovs
Girls
Girls
(ii) Hence find the probability of submitiing the projects by boys in both sections. {02 marks)
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* Answer 10 questions selecting 5 questions fram part Aund 5 guestions I'rom parl B.
* Eachquoestion carries 10 marks
* Thevolume ofa cube olside lenpth "a™ isa’

* Thevolume ofa right circular eylinder of biase radius "'r” and height "h" is xr'h

Pari A
Answer 5 questions only.

(b The assessed annual value of i cenin house 15 Rs 72000, Tlhe relevant provinecial council insitiion
charges 8% of the value of the house as rates. Al ihe end of the vear the owner of the house sold it and
received some amount ol money. But he had to pay income max for the money he received anhe vate of 4%
and the 1ax [ree income is Rs 500000, The income wax that he paid is Rs 28 004,
shaw that the amount ol money remained aller paying income tax and rates is Rs 1166240,

(02) Anincomplete wable prepared 1o draw the graph of the functiony ={x+2) {x - 1) is iven below,

B -3 -2 -1 i 1 3 3

(g4 2)

(%=1

y

(i) Copy the table arnd complete i
{iiy Using1hesuitabie scale draw the prapholhe above funetion,
(iii} Using the graph tind the interval values of x on which the function is negalive and inereasing.

(03} Information about the hurvest ul salt obiained Juring the first quaner of the year in a certain salitern an
Hambanthota, is given in the able below, (200 - 250 in the able indicates the interval that consists ol the
vaiues equal or preater than 260 and tess than 2504

amount of salt

. 0-230 | 2FT00 | JM0-3EE | 2S00 | AO0AE0 | A50-500 | S00-550 | SS0-60M0 | s00-630 | 650-700
fmeLlric LWons}

Mo ol days z 3 5 12

b
=t

ad 3 (7

Lt
e}

th Whalisthe model elass of the disteibution.

i) Taking mid value of the model class as the assumed mean, find the mean amount of sall produced a
day in the first quaner of il vear.

it Tf1he production cost of one melric ton of sal is Rs 10 000 and the selling price of ooe metric ton of

saltis Rs 40000, find the proficthatcan be gained aday in this guaner ol the vear.
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{04) (a)

(b)

(05) (a)
(b)

gy |
SOIVB. X2 3[]: . 2} - 0

The length omd the breadth of a reclangular paper are xand y . ITiris cut lengrhwise 1o oblain bwo
equal parls as shown, the perimerer of one parl is 32em. IF it is cut breadthwise 1o oblain two equal
parls as shown, the perimeler of one part is 28em.

|
il Construcl two simultaneous cquations using the information above, containing xandy.
(ip By solving the equations find the length and the breadih of the initial reelangle.

Solve the inequality 5-2x < | and represent Lhe solulionsona number linc,

Kasun and Ameen select 2 same nomber lo do some mathematical activity. Kasun adds 3 lo the
numberand squares the answer. Ameen subtracts 2 from the number and also squares the answer.

fiy By taking x as the initial number that Kasun and Ameem selected, write two quadralic
expressions separately thal Kasunand Ameen pbtained as their Minal answers.

G IflhesumoftheﬁnulnnswersisQT.sImwlhmIhesumr:rl’lhequndru:icequatimlsmenlionedin[]}
is given by the equarion x*+x-42=0

i} By solving the quadratic equalion in(il), Find the number selected by Kasun and Amecn.

{06} The top of the lelephone exchange tower on |he horizontal ground has an angle ol elevation of 60" and the
botiom has an angle of depression ol 40° from the top ofithe another building of height 20m.

Taking 'cm 1o represent dm, Draw a scale diagram,

Gy Mind the aciual distance berween (e telephone tower and the building.
{iih lind the height ofthe 1elephone ¢xchange tower, in meters.
Pari B
07 3,7, 11,15, ...
tit  Whar progression do the numbers loflow?
iy Findihe 23rd term of the progression.
{iiv show that the sum of first "n' terms satislies, S =n(2n+1)
{iv} Show that the progression oblained by adding 2 1o cach Lerm of the initial progression, is anothur

arithmetic progressian whose common difference is4.

(0%) Use only Lhe straight edge with a cm/mm scale and a pair of compasses for ihe following constrnctlions

show the construction lines clearly.

11}
{ii)

{ifiy

(i}

vl

Construct theiriangle ABC such that AB=AC =6cm, and CAB=60"

Conslruci 2 line through C, parallel o AB.

Construct the locus of'a point equidistant to AC and AB ro meel B at E and to meec the parallel line
constructed in{iijat .

Deiermine, giving reasons the magniiude of AER.

Wrile Lhe suitable name for the quadrilateral ABCD.
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(09} [nlormation on 24 sludents in a cerlain mixed school who are qualified to enroll in a National college of

(10

(1)

{12)

Education Lo follow mathematics siream and science stream Oul of 24 swidenrs 10 are boys.

i
(i
tiv)

v}

(a)

{b)

TP<TQ. Copy the ditagram given and produce TP o X suchthaQT=TX
Show that 5P produced is perpendicular o RX,

The two chords SR and Q) intersect perpendicuiarly a1 T sucl tha < .

&

Siudenis enralled
[or science sireath

Girls

Whi arc1the values dencled by x and ¥,

Find the no ol boys who enralled for mathematics siream.

Find the tolal no ol sludents who enrolled lor science stream,

Copy the Venn diagram above and naming the iwo seis as "boys" and "studem enrolled for
mathematics stream”, inseri the number of sludents belonging to each region using the infarmation.
Shiade the region that represents Uhe girls who enroled for mathematics stream,

An ancienl cylindrical coin of radius r and Ihickm.:ss-% is found through a cerlain excavation

launched by an archaeoiogical department in Sri Lanka. If the volume of the metal made the coin is

LIS
"W show thatr = Tom 5n

It ¥=2120mm" and m=3.14 find Ihe radius ol the coin using the logarithmic 1able o the nearest

1/—_\“

whaole number.

Q

The diagonals of the parallelogram POQRS imerseet at "0". A and B are two poinis lie on PO and QR

respeclively atany place on them. AQ produced meelts SR at C while BO produced meects SPaD.

(i)
itil
tiiid

(iv)

Copy the ligure and ind teate the information given above.

<
R

Showihal AAODs ASQOC

Showlihat OB =0D

Prove that ABCD isa parallelogram.
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